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Capital budgeting deals with :

a. Long-term decisions - b. Shortterm decisions
¢. Both (a) and (b) d. Neither (a) nor (b)
Which of the following is not used in capital budgeting :

a. Time value of money b. Sensitive Analysis

c. Net Assets Method d. Cash Flows

Capital Budgeting Decisions are :
a. Reversible b. Irreversible
¢. Unimportant . All of the above

c.

Cost of capital is expressed in terms of :

a. Percentage b. Fraction -

c. Whole number d. None of the above
Cost of capital is a------—--concept in financial management:

a. Central b. Departmental

¢. Dual d. None of the above

The cost in the process of raising funds through equity is known as:

a. Financial risk b. Cost of debt

c. Floatation cost d. Cost of capital

Capital structure of a company is related with :

a. Shareholders’ funds b. Long-term debts, preference share
capital and equity capital

¢. Debentures and loans d. None of the above

Current assets include :

a. Cash b. Stock

¢. Debtos d. All of the above
Working capital is known as--—--------- capital :

a. Current asset b. Operating

¢. Projecting d. Operational capital
Investment in current assets should be -------=eene- :

a. Justadequate b. More

¢ Less d. Maximum
Operating cycle is also called as-----------—--- p

a. Working cycle b. Business cycle

¢. Current asset cycle d. Working capital cycle
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[ Answer question no.1 & any four (4) from the rest ]

a) Give a suitable definition of Financial Management.
b) Explain the importance of Financial Management on the context of
modern day business.

a) What are the objectives of Financial Management?
b) What do yvou mean by Finance Function? Explain.

a)  What do you mean by Ratio Analysis? Explain.
b) Discuss the importance of Ratio Analysis.

Compute the current, quick and absolute liquidity ratio from the
following excerpts from a firm’s balance sheet.

Marks : 50

2+8=10

4+6=10

5+5=10

10

Current Liabilities| Amount(RS) Current Assets  |Amount(RS)
Long term 5,30,000 |Cash & Bank 13,80,000
debt(current) balance
Notes Payvable 7,70,000 [ Marketable 17,40,000
Securities
Accounts payable 82,50,000 |Stock-in-trade 1,59,30,000
Dividend payable 7,00,000 | Trade Debtor(less 3,50,000
Reserve)
Accrued Taxes 8,50,000 | Bill Receivable(net) 1,18,40,000-
Bank Overdraft 2,10,000 | Prepaid expenses 15,60,000
Total 1,13,10,000 3,28,00,000
Calculate the trend percentage from the following data taking 2006 as the 10
base year.
Year 2006 2007 2008 2009 | 2010
Sales (rs) 2,00,000{ 1,80,000| 1,60,000{1,40,000{ 1,20,000
Debtors(rs) 20,000{ 40,000  60,000{ 80,000 1,00,000
a) What is capital budgeting? 4+6=10
b) What steps are involved in capital budgeting process?
a) Discuss the concept of cost of capital. 5+5=10
b) What is the significance of the concept?
a) What is working capital? Explain the concept. 4+6=10
b) Whatare the factors that determine the working capital?
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